EARAROBREBRT —5 XN—ZXBISH—F

20224648348 (B) 1EHEE3H

VIl S AGAURY I v—XXEDY—Ih YSR3I® ‘ (R 65 ‘ (SEwml - | 5 13000 B
[AXE%]) 1%&:370,00 9 ~ 2%&:118,000H  3#&:67,00MH / 4%&:44,000H  53&:30,000H
& RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< NG : -1-1- - KBt (KE
1 : BRI, 4 3 54]‘)*6& 1.(2_6).8 1-1-1-1 | 40.7 7 (3_953) ﬁﬁg? (£2)
RS/ v—0 B:RXvF—F £IH &%
<~ IS : -7-5- - AT (K8
? IAYYXT R = 1('322{)9 RN ° (fg) BEEil
RiIAYYTSwya B:I—-vyVFUT+Y SERIS
< & . e _ = -
3 TJH—J— 4t 3 Tgi'.ol 1(72{:? 4-5-6-5 | 40.0 2 (4_111) ;ggﬁ(ﬂté)
Rib—trya—sv B:F47SE-Z7 FATUVANIST
REET : -4-4- - SHEBF (£8)
4 TAY—7 4 3 = 1(.12/72.)1 5-4-4-3 | 40.4 1 ig;} s =
RS/ v—0 B:IF)I EERUS
N " |~ 2T ) . o _ ?,‘« £o1-}
5 FUALRY—=R 3 yﬁﬂdﬂa 1( 72{:; 3-2-3-2 | 40.6 3 (4+382) égfg (E&)
RIFVIARZA S B:ARYvILDa4vF N E8UE
~) = o 3 | BPBEA 1:27.4 6-6-7-6 | 40.4| — 4 431 | HHEEAIE (1£8)
6|11 FYVY7SE-R e 1172 ) |BEE
RiF4RIU—bFrvv s ST/ TUVTUY fisrake]
— . 66 - ABBE (EH
718l10| IREIILL 3 O% (17'2,3% AN R ’ (4_339) =HAEE )
R:AIU—vke—0— B:ESI-F475 EvIUy RI7—LA
= __sy_ A0 [salesr : -9-9- - BEH—X (£8)
8lglo| F5—Yar2N 4 3 ek 1.(278).7 8-9-9-9 | 40.7 9 (4)(1;; e =
RiA=VvTI— B:TUERRY VI RS B2
= [TNEEES= : -3-2- - KEHE (8
97| g | FLSAA i3 Wiss 1(.32/54.)9 2-3-2-7 | 42.4 6 (4_6:) roex i)
R:OI94F B:FLSE—L " OEE
_ SEAE YN B -10-10- — iyl 5
005 5| T927UF2FS 4 3 Eg’fzaﬁa (11219/22) 10-10-10-10| 40.8 10 (4:31) ;ﬂgggm (£23)
RiFVHh—T B:IU—VyFUUER jitaiutie]
@ 11— —BERIEI
13—7F— 3,8,6,7,2,1,4,9,10,5
20—F— 3,6,8,2,7,1,4,10,9,5
BEIES /S 3,8,6,2,4,7,1,10,9,5
40—7F— 3,6,2,4,7,1,8,10,9,5
o ILRE
BB 3 2,480M JA R 3-4 2,110H AR 3-4 9,550/ 3ER 3-4-7 10,6509
B B 3 440 3-7 1,440 5 & 3-4 8,440 3Es 3-4-7 130,620
4 270 4-7 1,080 oS- 1 3-4 16,2404
7 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




